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QUESTION: 23
What is the function of aCMTS?

A. Convert RF to Optical

B. Convert IP to Baseband

C. Convert Optical to Baseband
D. Convert IPto RF

Answer: D

QUESTION : 24
What is amajor disadvantage of using DSL as an access technology?

A. Bandwidth increases from the DSLAM toward the subscriber
B. Bandwidth decreases from the DSLAM toward the subscriber
C. Very small installed base

D. Does not work with standard telephone equi pment

Answer: B

QUESTION : 25
What network management system can monitor and control video headend equipment?

A. ANA

B. Cisco Works
C. ROSA

D. IGMP

Answer: C
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